
Page

Revision

C
Document No.

225199
Production state

Preform Date

2011-06-16
Preform By

UDN
Approved Date Approved By

Document type

Assembly Instruction

Mounting of Seatbelt.

Best.nr:	 305982-99-0	 Seatbelt incl. bracket.

The kit includes
1.	 1 qt. Belt		 6.	 4 qt. M5x16 Screws
2.	 4 qt. Three-glide	 7.	 2 qt. M8x20 Screws
3.	 2 qt. Fixlock brackets	 8.	 2 qt. 8,5x15,6x1,2 Washers
4.	 2 qt. Belt holders	 9.	 4 qt. 5,5x15x1 Washers
5.	 2 qt. Spacers	 10.	 4 qt. M5 locking nuts

Mounting on Corpus II and VS
Read the instructions before beginning mounting.
1.	 Place the fixlock brackets according the 
	 measurements in fig. 1. Use the bracket as 
	 a template to make marks for the drill holes.  
	 Drill with Ø5,2 mm drill. Mount the two fixlock  
	 brackets on the seatback with four M5x16  
	 screws and washers, see fig 1. Screw the  
	 screws from the front side of the seatback.
2.	 Mount the belt holder in the rear holes on the seat 
	 frame. Fig. 2.
3.	 Draw the belt through the three-glide in 
	 through the belt holder. Then draw the belt  
	 through the three-glide again. Fig. 2.
4.	 Adjust the length of the belt and fix its position 
	 with the fixlock brackets on the seatback. Fig 3. 

Fig. 1. Mount the fixlock brackets on the seatback

Fig. 3. Adjust and lock the belt with the fixlock 
brackets.

Fig. 2. Belt holder mounted on the seatframe

50 mm

45 mm

Three-glide

Belt holder



Page

Revision

C
Document No.

225199
Production state

Preform Date

2011-06-16
Preform By

UDN
Approved Date Approved By

Document type

Assembly Instruction

Mounting on Corpus 3G
Read the instructions before beginning mounting.
1.	 Pull the belt through three-glide and through 

the slots in the backrest plate top. Then pull 
the belt through the three-glide again. Fig. 4.

2.	 Mount belt clip into the screw holes on back rests 
lower edge. Fig. 5 och 6.

3.	 Pull the belt through three-glide and through 
the belt holder. Then pull the belt through the 
three-glide again. Fig. 5 och 6.

4.	 Adjust the belt length in three-glide at the four 
attachment points.

Fig. 4. Mount belts on the seat back.

Fig. 6. The belt clip mounted on the rear panel.Fig. 5. The belt clip mounted on the rear panel.

Three-glide Three-glide

Belt holder

Belt holder

2/4



Page

Revision

C
Document No.

225199
Production state

Preform Date

2011-06-16
Preform By

UDN
Approved Date Approved By

Document type

Assembly Instruction

Page
	 3/4

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

Montering av Fyrpunktsbälte.

Best.nr:	 305982-99-0	 Fyrpunktsbälte inkl. fäste Vertical, Corpus

Förteckning över detaljer som skall finnas i satsen.
1.	 1 st. Bälte	 6.	 4 st. M5x16 Skruv
2.	 4 st. Tre-glid	 7.	 2 st. M8x20 Skruv
3.	 2 st. Fixlock	 8.	 2 st. 8,5x15,6x1,2 Bricka
4.	 2 st. Bälteshållare	 9.	 4 st. 5,5x15x1 Bricka
5.	 2 st. Distanser	 10.	 4 st. M5 locking mutter

Montering på Corpus II och VS
Läs igenom anvisningen innan montering påbörjas.

1.	 Placera fixlockfästena enligt måtten på bild 1. 
	 Använd fästena som mall för att göra marker- 
	 ingar för borrhålen. Borra med Ø5,2 mm borr.  
	 Montera de två fixlockfästena på ryggstödet  
	 med de fyra M5x16 skruvarna och brickorna, se  
	 bild 1. Skruvarna skruvas från framsidan av 
	 sitsryggen
2.	 Montera bälteshållarna i sitsramens bakre 
	 skruvhål. Bild 2.
3.	 Dra bältet igenom tre-glidet och in genom 
	 bälteshållaren. Dra därefter bältet genom  
	 tre-glidet igen. Bild 2.
4.	 Justera bältets längd och lås bältets läge med 
	 fixlockfästena på sitsryggen. Bild 3.

Bild 1. Montera fixlockfästena på sitsryggen

Bild 3. Justera och lås bältet med fixlockfästenaBild 2. Bälteshållaren monterad på sitsramen

50 mm

45 mm

Tre-glid

Bälteshållare



Page

Revision

C
Document No.

225199
Production state

Preform Date

2011-06-16
Preform By

UDN
Approved Date Approved By

Document type

Assembly Instruction

Montering på Corpus 3G
Läs igenom anvisningen innan montering påbörjas.

1.	 Dra bältet igenom tre-glidet och genom spå-
ren i ryggplåtens överdel. Dra därefter bältet 
genom tre-glidet igen. Bild 4.		

2.	 Montera bälteshållarna i skruvhålen på ryggplå-
tens nedre del. Bild 5 och 6.

3.	 Dra bältet igenom tre-glidet och in genom 
bälteshållaren. Dra därefter bältet genom tre-
glidet igen. Bild 5 och 6.

4.	 Justera bältets längd i tre-glidet vid de fyra infäst-
ningspunkterna.

Bild 4. Montera bältena på sitsryggen

Bild 6. Bälteshållaren monterad på ryggplåten.Bild 5. Bälteshållaren monterad på ryggplåten.

Tre-glid Tre-glid

Bälteshållare

Bälteshållare

4/4


